SL. NO	NAME	AUCTION DATE	TIME	Reserve Price	Remarks	Contact Details of Branch Manager
1	ASHOKA C / ANITHA A	25-07-2024	10.30 AM	9,75,00,000	No. 154, Sy. No. 87/5 New No.15, Nagavarapalya, Benniganahalli, C V Raman Nagar,(Commercial Complex), Totally Measuring 8,050 Sq. Feet. consist of 22,750 Sq. Feet Building.	Smt. Indira A R, Indiranagar Branch, 8861004569, 25214434.
2	ASHOKA C / ANITHA A	25-07-2024	11.30 AM	4,92,00,000	BBMP Khatha No.13, Old Sy.No.91/5, Nagavarapalya, C V Raman Nagar. Totally Measuring 2,860 Sq. Feet. consist of 11,000 Sq. Feet Building.	>>
3	NEPTUNE	29-07-2024	10.30 AM		No.38/3, situated at Hale Nijagal village, Sompura Hobli, Nelamangala Taluk, Bengalore Rural. Land 1 acre 28 guntas and including Kharab land 0.24 guntas.	Smt. Rama S, AGM, Gandhi Bazar Branch, 7349784526, 22421998, 26607778
4	MOHAN SINGH / BHAVANI AGENCY	29-07-2024	11.30 AM	32,00,000	Site No. 48, Khatha No. 458, Formed in the BMRDA approved layout called as "Prashanthi Garden Villa", Suragajakkanahalli village, Anekal Taluk, . Totally Measuring 1,280.00 Sq. Feet.	11
5	DEEPASHREE S	29-07-2024	12.30 PM	41,00,000	Site No.59, E-Khata No.1504/59,converted lands. Kaggalipura Village, Uttarahalli Hobli, Bangalore. Totally measuring 111.53 Meters (1,200.60 Sq.ft)	Smt. Manjula M, BSK 3rd Stage Branch, 9739745533, 26727196
6	VARALAKSHMI	29-07-2024	2.30 PM	53,00,000	No. 149/512, Old No. 149, CMC Khatha No. 533, BBMP Khatha No. 705/1/643/533/149/512, Bilekahalli, Bengaluru. Totally Measuring 600.00 Sq. Feet	Smt. Asha Harish, Koramangala Branch, 9739789911, 25525279.

SL. NO	NAME	AUCTION DATE	TIME	Reserve Price	Remarks	Contact Details of Branch Manager
7	AVION NETWORK	30-07-2024	10.30 AM	1,19,00,000	Site No.7 (Sy. No.41/1, 41/6, now Sy. No's 41/1C, 41/6B of Jalahalli), 12th G Main Road, Muthyalnagar, Near Railway Track, Bengaluru. East to West: 40 feet and North to South: 30 feet, Totally Measuring 1200 Sq.ft.	Smt. Rama S, AGM, Gandhi Bazar Branch, 7349784526, 22421998, 26607778
8	AVION NETWORK	30-07-2024	11.30 AM	77,00,000	No.18/C, First Floor, Lucky Paradise, Jayanagar 3rd Block, 22nd Cross, Super Built Up area 309.63 Sq. Ft. along with 120.50 Sq.ft. UDS	11_
9	AVION NETWORK	30-07-2024	12.30 PM		Property No.406, 5th Cross, Avalahalli BDA Layout, Deepanjalinagar, BSK 3rd Stage Measuring: East to West :9.15 Mts and North to South :12.10 Mts, Totally Measuring 110.70 Sq. Mts	_11_
10	ANANTHA KUMAR M	30-07-2024	2.30 PM	1,15,00,000	All that part and parcel of the Property Bearing No.62, PID No.51-38-62, 1st Cross, 4th Block, Thyagarajnagar, Bengaluru. Measuring East to West 30 feet, North to South 30 feet. Total 900 Sq.Feet.	11_
11	SANDEEP J	30-07-2024	3.30 PM	1,68,00,000	Property bearing No.3, 2nd Cross, KB Temple Road, 6th Block, Rajajinagar, Bangalore owned by Smt. G. Padmavathi. Property measuring East to West 45 feet and North to South 30 feet Totally measuring 1,350 Sq. Feet	Rajarajeshwari Nagar Brach,

SL. NO	NAME	AUCTION DATE	TIME	Reserve Price	Remarks	Contact Details of Branch Manager
12	INDO ASIAN / EKAMBARAM NAIDU	05-08-2024	10.30 AM	6,00,00,000	Property Old No 10 , Present Corporation No. 2/174/005, Raghavendra Layout, D Block, Yeshwantpura Hobli, Bengaluru. Measuring East to West 60 Feet and North to South 40 Feet, Totally Measuring 2,400 Sq. Feet. And 14,000 Sq. Feet Builtup area.	Sri. Prasad G, Banaswadi Branch. 8861711522, 25452772.
13	INDO ASIAN / EKAMBARAM NAIDU				Property No.6 (Old No 11), Corporation No : 78/5, Raghavendra Layout, D Block, Yeshwantpura Hobli, Bengaluru. Measuring East to West 60 Feet and North to South 40 Feet, Totally Measuring 2,400 Sq. Feet. And 14,000 Sq. Feet Builtup area.	>-
14	INDO ASIAN / EKAMBARAM NAIDU	05-08-2024	11.15 AM		Property bearing Site.No.4M-506 Situated at 2nd Block, HRBR Layout, Hennur Road, Banaswadi Road Extension, Bengaluru, formed by BDA. East to West 25.90mtrs, and North to South 15.00 mtrs. Totally measuring 388.50 sq. mtrs or 4182.00 Sqft.	
15	INDO ASIAN / EKAMBARAM NAIDU	05-08-2024	12.00 PM	5,70,00,000	Site No.4M-508, Situated at 2nd Block, HRBR Layout, Hennur Road, Banaswadi Road Extension, Bengaluru, formed by BDA, Presently within the limits of BBMP, Measuring East to West 25.90 mtrs and North to South 15 Mtrs, Totally measuring 388.50 sq. mtrs or 4182.00 Sqft	11_
16	INDO ASIAN / EKAMBARAM NAIDU	05-08-2024	12.45 PM	2,75,00,000	Property NO 45-A , Old Khatha NO 36/4, New Khatha No 356, 3rd Cross, Site No-45 , Hennur Village , Kasaba Hobli, Bangalore North Taluk Bangalore. Totally Measuring 1,680 Sq. Feet.	11_

SL. NO	NAME	AUCTION DATE	TIME	Reserve Price	Remarks	Contact Details of Branch Manager
17	INDO ASIAN / EKAMBARAM NAIDU	05-08-2024	3.00 PM		Site No 392, old Khatha No 36/4, 2nd Cross, HBR Layout, Hennur Village, Ksaba Hobli, Bangalore North Taluk, Bangalore. Totally Measuring 2,200 Sq. Feet. With 8,488 Sq. Feet Building.	31
18	INDO ASIAN / EKAMBARAM NAIDU	05-08-2024	3.45PM		Flat No-PH2, 4th floor HBR Palace, Site Nos 1 and 2, Khatha No 406/80/1/57, formed in property No 57. Hennur Village, Kasaba Hobli, Bangalore North Taluk, Bangalore. Measuring 1,500 Sq. Feet. Super Built up Area, 346 Sq. Feet Undivided Shares, and 1,200 Sq.Feet Carpet Area.	,,_
19	INDO ASIAN / EKAMBARAM NAIDU	05-08-2024	4.30 PM	1,02,00,000	PH-4, No1, (3 BHK Flat) Kasturi Palace Apartment, 1st A Main Road, Kasturi Nagar, Bangalore. Measuring 1,750 Sq. Feet. Super Built up Area.	,,_
20	SLV DESIGNS, MEENA CHANDRASHEKHAR	19-08-2024	10.30 AM	1,65,00,000	Site No.44, Property No.50/3, Katha No.50/3, Situated at Kodigehalli Village, K.R Puram Hobli, Bengaluru. Measuring East to West 25+50/2 feet and North to South 50+50/2 feet Totally Measuring 1875 Sq Ft.	Smt. Indira A R, Indiranagar Branch, 8861004569, 25214434.
21	SIRI VAIBHAVA / RAJESH / NAGAVALLI B S	22-08-2024	10.30 AM	4,60,00,000	Property bearing No No 75. Sy. No 58/1, 58/2, Jeevan Deepa Residential Layout, Pattanagere Village, Kengeri Hobli, Bengaluru. Site Measuring East to West 50 Feet and North to South 90 feet in all Totally measuring 4500 Sq Ft .	Sri. Narayanaswamy K S., RR Nagar Brach, 8861399722 / 28604311.

SL. NO	NAME	AUCTION DATE	TIME	Reserve Price	Remarks	Contact Details of Branch Manager
22	SIRI VAIBHAVA / RAJESH / NAGAVALLI B S	22-08-2024	11.30 AM		SA Arcade Apartment, Site No.6,& 7 formed in converted Survey No. 60/6 and 60/11,Bommanahalli Village, Beguru Hobli, Bengaluru South Taluk, Land area Totally Measuring: 6,415 Sq. Ft. Along with 27,500 Sq. Feet building consists of Basement, Ground Floor and 4 Upper Floors.	;;_
23	SIRI VAIBHAVA / RAJESH / NAGAVALLI B S	22-08-2024	12.30 PM	15,62,00,000	No. 39, 39/2, Situated at Yelachenahalli, Bengaluru. Land area Totally Measuring: 6,415 Sq. Ft. Along with Totally 7,100 Sq. Feet building.	,,_
	Total			83,28,00,000		